LakeCounty Division of Transportati	ion					
		Summary of Bids Receiv	/ed			
Pro	oject: Fairfield Road & Wilson Road	Resurfacing				
Sec	ction: 18-00999-59-RS					
Descrip	tion: Fairfield Road (Nippersink Ro Wilson Road (IL 60 to Nipper	l to IL 134) Fairfield Road (Monaville I sink Rd)	Rd to IL 132)			
CPMS	S Pin: B-01394					
Let i	Date: 6/4/2019					
Bidder Peter Baker & Son Company	Address 1349 Rockland Road	City, State, Zip Lake Bluff, IL 60044	Bond Bid Bond	Bid Price \$2,770,861.99	% Over/Under Eng. Estimate -19.89%	\$ Over/Under Eng. Estimate -\$688,002.61
Engineer's Estimate				\$3,458,864.60		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.		Mgr Capital Program	mming	
Construction	Project File	Request By Mail				



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	448.0	CU YD	\$65.00	\$29,120.00	\$140.00	\$62,720.00
2	20800150	TRENCH BACKFILL	78.0	CU YD	\$65.00	\$5,070.00	\$78.31	\$6,108.18
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	376.0	SQ YD	\$10.00	\$3,760.00	\$1.00	\$376.00
4	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	5,776.0	SQ YD	\$4.00	\$23,104.00	\$0.01	\$57.76
5	21101615	TOPSOIL FURNISH AND PLACE, 4"	2,649.0	SQ YD	\$5.00	\$13,245.00	\$0.01	\$26.49
6	21301052	EXPLORATION TRENCH 52" DEPTH	150.0	FOOT	\$50.00	\$7,500.00	\$55.47	\$8,320.50
7	21400100	GRADING AND SHAPING DITCHES	211.0	FOOT	\$25.00	\$5,275.00	\$30.72	\$6,481.92
8	25000314	SEEDING, CLASS 4B	0.2	ACRE	\$10,000.00	\$2,000.00	\$2,420.00	\$484.00
9	25100630	EROSION CONTROL BLANKET	473.0	SQ YD	\$3.50	\$1,655.50	\$5.00	\$2,365.00
10	28000305	TEMPORARY DITCH CHECKS	56.0	FOOT	\$50.00	\$2,800.00	\$12.00	\$672.00
11	35101400	AGGREGATE BASE COURSE, TYPE B	84.0	TON	\$50.00	\$4,200.00	\$89.95	\$7,555.80
12	35101800	AGGREGATE BASE COURSE, TYPE B 6"	356.0	SQ YD	\$20.00	\$7,120.00	\$29.65	\$10,555.40
13	40200800	AGGREGATE SURFACE COURSE, TYPE B	5.0	TON	\$100.00	\$500.00	\$100.00	\$500.00
14	40600290	BITUMINOUS MATERIALS (TACK COAT)	48,203.0	POUND	\$0.05	\$2,410.15	\$0.01	\$482.03



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
15	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$200.00	\$2,000.00	\$150.00	\$1,500.00
16	40600525	LEVELING BINDER (HAND METHOD), N50	15.0	TON	\$100.00	\$1,500.00	\$150.00	\$2,250.00
17	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$110.00	\$1,100.00	\$150.00	\$1,500.00
18	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	2,127.0	TON	\$125.00	\$265,875.00	\$98.75	\$210,041.25
19	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	2,981.0	TON	\$85.00	\$253,385.00	\$70.00	\$208,670.00
20	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	980.0	TON	\$90.00	\$88,200.00	\$70.00	\$68,600.00
21	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	4,640.0	TON	\$90.00	\$417,600.00	\$77.35	\$358,904.00
22	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	2,205.0	TON	\$95.00	\$209,475.00	\$77.55	\$170,997.75
23	42001300	PROTECTIVE COAT	123.0	SQ YD	\$5.00	\$615.00	\$10.00	\$1,230.00
24	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	15,239.0	SQ YD	\$2.50	\$38,097.50	\$3.40	\$51,812.60
25	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	29,596.0	SQ YD	\$3.00	\$88,788.00	\$4.35	\$128,742.60



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
26	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	18,731.0	SQ YD	\$3.50	\$65,558.50	\$5.55	\$103,957.05
27	44000200	DRIVEWAY PAVEMENT REMOVAL	2,319.0	SQ YD	\$7.00	\$16,233.00	\$23.35	\$54,148.65
28	44201737	CLASS D PATCHES, TYPE I, 8 INCH	83.0	SQ YD	\$70.00	\$5,810.00	\$30.00	\$2,490.00
29	44201741	CLASS D PATCHES, TYPE II, 8 INCH	124.0	SQ YD	\$70.00	\$8,680.00	\$30.00	\$3,720.00
30	44201745	CLASS D PATCHES, TYPE III, 8 INCH	372.0	SQ YD	\$70.00	\$26,040.00	\$30.00	\$11,160.00
31	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	248.0	SQ YD	\$70.00	\$17,360.00	\$30.00	\$7,440.00
32	44201749	CLASS D PATCHES, TYPE I, 9 INCH	91.0	SQ YD	\$75.00	\$6,825.00	\$35.00	\$3,185.00
33	44201753	CLASS D PATCHES, TYPE II, 9 INCH	136.0	SQ YD	\$75.00	\$10,200.00	\$35.00	\$4,760.00
34	44201757	CLASS D PATCHES, TYPE III, 9 INCH	407.0	SQ YD	\$75.00	\$30,525.00	\$35.00	\$14,245.00
35	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	1,469.0	SQ YD	\$75.00	\$110,175.00	\$35.00	\$51,415.00
36	44201773	CLASS D PATCHES, TYPE I, 11 INCH	57.0	SQ YD	\$85.00	\$4,845.00	\$45.00	\$2,565.00
37	44201777	CLASS D PATCHES, TYPE II, 11 INCH	85.0	SQ YD	\$85.00	\$7,225.00	\$45.00	\$3,825.00
38	44201781	CLASS D PATCHES, TYPE III, 11 INCH	253.0	SQ YD	\$85.00	\$21,505.00	\$45.00	\$11,385.00
39	44201783	CLASS D PATCHES, TYPE IV, 11 INCH	169.0	SQ YD	\$85.00	\$14,365.00	\$45.00	\$7,605.00
40	44201798	CLASS D PATCHES, TYPE I, 13 INCH	27.0	SQ YD	\$95.00	\$2,565.00	\$75.00	\$2,025.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to

Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
41	44201803	CLASS D PATCHES, TYPE II, 13 INCH	40.0	SQ YD	\$95.00	\$3,800.00	\$75.00	\$3,000.00
42	44201807	CLASS D PATCHES, TYPE III, 13 INCH	119.0	SQ YD	\$95.00	\$11,305.00	\$75.00	\$8,925.00
43	44201809	CLASS D PATCHES, TYPE IV, 13 INCH	79.0	SQ YD	\$95.00	\$7,505.00	\$75.00	\$5,925.00
44	44201823	CLASS D PATCHES, TYPE I, 15 INCH	58.0	SQ YD	\$105.00	\$6,090.00	\$90.00	\$5,220.00
45	44201827	CLASS D PATCHES, TYPE II, 15 INCH	87.0	SQ YD	\$105.00	\$9,135.00	\$90.00	\$7,830.00
46	44201831	CLASS D PATCHES, TYPE III, 15 INCH	259.0	SQ YD	\$105.00	\$27,195.00	\$90.00	\$23,310.00
47	44201833	CLASS D PATCHES, TYPE IV, 15 INCH	173.0	SQ YD	\$105.00	\$18,165.00	\$90.00	\$15,570.00
48	48101200	AGGREGATE SHOULDERS, TYPE B	1,190.0	TON	\$75.00	\$89,250.00	\$40.95	\$48,730.50
49	50105220	PIPE CULVERT REMOVAL	451.0	FOOT	\$40.00	\$18,040.00	\$25.49	\$11,495.99
50	54262712	METAL FLARED END SECTIONS 12"	6.0	EACH	\$700.00	\$4,200.00	\$577.50	\$3,465.00
51	54262715	METAL FLARED END SECTIONS 15"	22.0	EACH	\$750.00	\$16,500.00	\$635.00	\$13,970.00
52	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	75.0	FOOT	\$100.00	\$7,500.00	\$76.34	\$5,725.50
53	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	381.0	FOOT	\$125.00	\$47,625.00	\$113.10	\$43,091.10
54	60100905	PIPE DRAINS 4"	150.0	FOOT	\$35.00	\$5,250.00	\$41.20	\$6,180.00
55	60100915	PIPE DRAINS 6"	150.0	FOOT	\$35.00	\$5,250.00	\$42.20	\$6,330.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
56	60260400	INLETS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$2,500.00	\$2,500.00	\$2,070.00	\$2,070.00
57	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	90.0	FOOT	\$50.00	\$4,500.00	\$65.00	\$5,850.00
58	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	306.0	FOOT	\$60.00	\$18,360.00	\$65.00	\$19,890.00
59	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	313.0	FOOT	\$45.00	\$14,085.00	\$29.00	\$9,077.00
60	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	2.0	EACH	\$4,500.00	\$9,000.00	\$3,250.00	\$6,500.00
61	63200310	GUARDRAIL REMOVAL	423.0	FOOT	\$10.00	\$4,230.00	\$5.50	\$2,326.50
62	67100100	MOBILIZATION	1.0	L SUM	\$189,600.00	\$189,600.00	\$193,695.00	\$193,695.00
63	70300100	SHORT TERM PAVEMENT MARKING	34,115.0	FOOT	\$0.50	\$17,057.50	\$0.01	\$341.15
64	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,002.4	SQ FT	\$1.00	\$1,002.40	\$0.01	\$10.02
65	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	46,374.0	FOOT	\$0.25	\$11,593.50	\$0.01	\$463.74



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

						Ι		
Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
66	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	42,683.0	FOOT	\$0.25	\$10,670.75	\$0.01	\$426.83
67	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,661.0	FOOT	\$0.50	\$1,830.50	\$0.01	\$36.61
68	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	259.0	FOOT	\$0.75	\$194.25	\$0.01	\$2.59
69	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	2,418.0	FOOT	\$1.00	\$2,418.00	\$0.01	\$24.18
70	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	289.0	FOOT	\$2.00	\$578.00	\$0.01	\$2.89
71	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	11,243.0	FOOT	\$1.00	\$11,243.00	\$0.01	\$112.43
72	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,002.4	SQ FT	\$5.00	\$5,012.00	\$4.00	\$4,009.60
73	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	46,374.0	FOOT	\$1.00	\$46,374.00	\$0.55	\$25,505.70
74	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	42,683.0	FOOT	\$1.50	\$64,024.50	\$0.60	\$25,609.80
75	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	3,661.0	FOOT	\$2.00	\$7,322.00	\$0.75	\$2,745.75



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
76	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	259.0	FOOT	\$2.25	\$582.75	\$1.00	\$259.00
77	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	2,418.0	FOOT	\$2.50	\$6,045.00	\$1.50	\$3,627.00
78	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	289.0	FOOT	\$4.00	\$1,156.00	\$4.00	\$1,156.00
79	88600600	DETECTOR LOOP REPLACEMENT	457.0	FOOT	\$30.00	\$13,710.00	\$17.30	\$7,906.10
80	89502376	REBUILD EXISTING HANDHOLE	3.0	EACH	\$4,000.00	\$12,000.00	\$2,623.00	\$7,869.00
81	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$400.00	\$2,000.00	\$200.00	\$1,000.00
82	LC200052	EXCAVATING EXISTING SHOULDER	345.0	UNIT	\$450.00	\$155,250.00	\$390.00	\$134,550.00
83	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	48,965.0	UNIT	\$1.00	\$48,965.00	\$1.00	\$48,965.00
84	LC600200	INSTALL SURVEY MONUMENTS	12.0	EACH	\$750.00	\$9,000.00	\$900.00	\$10,800.00
85	LC782000	GUARDRAIL REFLECTORS	17.0	EACH	\$25.00	\$425.00	\$8.00	\$136.00
86	X0327980	PAVEMENT MARKING REMOVAL -WATER BLASTING	93.0	SQ FT	\$25.00	\$2,325.00	\$22.00	\$2,046.00
87	X0358300	REMOVE AND RELAY END SECTIONS	7.0	EACH	\$1,500.00	\$10,500.00	\$5,057.86	\$35,405.02



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
88	X1200207	REMOVE AND RELAY PIPE CULVERTS (SPECIAL)	112.0	FOOT	\$250.00	\$28,000.00	\$277.86	\$31,120.32
89	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	100.0	CU YD	\$150.00	\$15,000.00	\$88.70	\$8,870.00
90	X2800500	INLET PROTECTION, SPECIAL	7.0	EACH	\$200.00	\$1,400.00	\$435.00	\$3,045.00
91	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,958.0	SQ YD	\$8.00	\$23,664.00	\$6.00	\$17,748.00
92	X5420624	PIPE CULVERTS TO BE CLEANED 24"	280.0	FOOT	\$50.00	\$14,000.00	\$14.29	\$4,001.20
93	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	2.0	EACH	\$2,000.00	\$4,000.00	\$3,145.00	\$6,290.00
94	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$2,500.00	\$15,000.00	\$1,500.00	\$9,000.00
95	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$110,600.00	\$110,600.00	\$146,822.00	\$146,822.00
96	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	84.0	EACH	\$45.00	\$3,780.00	\$50.00	\$4,200.00
97	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,068.4	SQ FT	\$7.00	\$7,478.80	\$1.60	\$1,709.44
98	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	45,690.0	FOOT	\$1.00	\$45,690.00	\$0.30	\$13,707.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Peter Baker & S	Son Company				
					Unit Price Extnd. Price		Unit Price	Extnd. Price				
99	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	42,034.0	FOOT	\$1.25	\$52,542.50	\$0.50	\$21,017.00				
100	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	3,362.0	FOOT	\$1.50	\$5,043.00	\$0.60	\$2,017.20				
101	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	2,308.0	FOOT	\$2.50	\$5,770.00	\$1.00	\$2,308.00				
102	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	137.0	FOOT	\$5.00	\$685.00	\$2.00	\$274.00				
103	XX000856	MAILBOX REMOVAL AND RELOCATION	3.0	EACH	\$500.00	\$1,500.00	\$350.00	\$1,050.00				
104	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	11,243.0	FOOT	\$0.50	\$5,621.50	\$0.30	\$3,372.90				
105	XX006343	SEEDING (COMPLETE)	8,501.0	SQ YD	\$25.00	\$212,525.00	\$5.75	\$48,880.75				
106	XX006658	FLOCCULATION LOGS	10.0	EACH	\$150.00	\$1,500.00	\$100.00	\$1,000.00				
107	XX006659	FLOCCULATION POWDER	10.0	POUND	\$50.00	\$500.00	\$10.00	\$100.00				
108	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	200.0	FOOT	\$20.00	\$4,000.00	\$10.00	\$2,000.00				
109	XX008865	PERMEABLE PLASTIC BERM	66.0	FOOT	\$35.00	\$2,310.00	\$12.00	\$792.00				
110	XX206400	MAILBOX POST	28.0	EACH	\$350.00	\$9,800.00	\$300.00	\$8,400.00				



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Description: Nippersink Rd)

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Peter Baker & Son Company	
					Unit Price Extnd. Price		Unit Price	Extnd. Price
111	Z0033700	LONGITUDINAL JOINT SEALANT	30,224.0	FOOT	\$3.50	\$105,784.00	\$2.55	\$77,071.20
	Bid Total					\$3,458,864.60		\$2,770,861.99



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	448.0	CU YD	\$65.00	\$29,120.00	\$140.00	\$140.00	\$140.00
2	20800150	TRENCH BACKFILL	78.0	CU YD	\$65.00	\$5,070.00	\$78.31	\$78.31	\$78.31
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	376.0	SQ YD	\$10.00	\$3,760.00	\$1.00	\$1.00	\$1.00
4	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	5,776.0	SQ YD	\$4.00	\$23,104.00	\$0.01	\$0.01	\$0.01
5	21101615	TOPSOIL FURNISH AND PLACE, 4"	2,649.0	SQ YD	\$5.00	\$13,245.00	\$0.01	\$0.01	\$0.01
6	21301052	EXPLORATION TRENCH 52" DEPTH	150.0	FOOT	\$50.00	\$7,500.00	\$55.47	\$55.47	\$55.47
7	21400100	GRADING AND SHAPING DITCHES	211.0	FOOT	\$25.00	\$5,275.00	\$30.72	\$30.72	\$30.72
8	25000314	SEEDING, CLASS 4B	0.2	ACRE	\$10,000.00	\$2,000.00	\$2,420.00	\$2,420.00	\$2,420.00
9	25100630	EROSION CONTROL BLANKET	473.0	SQ YD	\$3.50	\$1,655.50	\$5.00	\$5.00	\$5.00
10	28000305	TEMPORARY DITCH CHECKS	56.0	FOOT	\$50.00	\$2,800.00	\$12.00	\$12.00	\$12.00
11	35101400	AGGREGATE BASE COURSE, TYPE B	84.0	TON	\$50.00	\$4,200.00	\$89.95	\$89.95	\$89.95
12	35101800	AGGREGATE BASE COURSE, TYPE B 6"	356.0	SQ YD	\$20.00	\$7,120.00	\$29.65	\$29.65	\$29.65
13	40200800	AGGREGATE SURFACE COURSE, TYPE B	5.0	TON	\$100.00	\$500.00	\$100.00	\$100.00	\$100.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
14	40600290	BITUMINOUS MATERIALS (TACK COAT)	48,203.0	POUND	\$0.05	\$2,410.15	\$0.01	\$0.01	\$0.01
15	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$200.00	\$2,000.00	\$150.00	\$150.00	\$150.00
16	40600525	LEVELING BINDER (HAND METHOD), N50	15.0	TON	\$100.00	\$1,500.00	\$150.00	\$150.00	\$150.00
17	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$110.00	\$1,100.00	\$150.00	\$150.00	\$150.00
18	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	2,127.0	TON	\$125.00	\$265,875.00	\$98.75	\$98.75	\$98.75
19	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	2,981.0	TON	\$85.00	\$253,385.00	\$70.00	\$70.00	\$70.00
20	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	980.0	TON	\$90.00	\$88,200.00	\$70.00	\$70.00	\$70.00
21	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	4,640.0	TON	\$90.00	\$417,600.00	\$77.35	\$77.35	\$77.35
22	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	2,205.0	TON	\$95.00	\$209,475.00	\$77.55	\$77.55	\$77.55
23	42001300	PROTECTIVE COAT	123.0	SQ YD	\$5.00	\$615.00	\$10.00	\$10.00	\$10.00
24	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	15,239.0	SQ YD	\$2.50	\$38,097.50	\$3.40	\$3.40	\$3.40



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
25	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	29,596.0	SQ YD	\$3.00	\$88,788.00	\$4.35	\$4.35	\$4.35
26	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	18,731.0	SQ YD	\$3.50	\$65,558.50	\$5.55	\$5.55	\$5.55
27	44000200	DRIVEWAY PAVEMENT REMOVAL	2,319.0	SQ YD	\$7.00	\$16,233.00	\$23.35	\$23.35	\$23.35
28	44201737	CLASS D PATCHES, TYPE I, 8 INCH	83.0	SQ YD	\$70.00	\$5,810.00	\$30.00	\$30.00	\$30.00
29	44201741	CLASS D PATCHES, TYPE II, 8 INCH	124.0	SQ YD	\$70.00	\$8,680.00	\$30.00	\$30.00	\$30.00
30	44201745	CLASS D PATCHES, TYPE III, 8 INCH	372.0	SQ YD	\$70.00	\$26,040.00	\$30.00	\$30.00	\$30.00
31	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	248.0	SQ YD	\$70.00	\$17,360.00	\$30.00	\$30.00	\$30.00
32	44201749	CLASS D PATCHES, TYPE I, 9 INCH	91.0	SQ YD	\$75.00	\$6,825.00	\$35.00	\$35.00	\$35.00
33	44201753	CLASS D PATCHES, TYPE II, 9 INCH	136.0	SQ YD	\$75.00	\$10,200.00	\$35.00	\$35.00	\$35.00
34	44201757	CLASS D PATCHES, TYPE III, 9 INCH	407.0	SQ YD	\$75.00	\$30,525.00	\$35.00	\$35.00	\$35.00
35	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	1,469.0	SQ YD	\$75.00	\$110,175.00	\$35.00	\$35.00	\$35.00
36	44201773	CLASS D PATCHES, TYPE I, 11 INCH	57.0	SQ YD	\$85.00	\$4,845.00	\$45.00	\$45.00	\$45.00
37	44201777	CLASS D PATCHES, TYPE II, 11 INCH	85.0	SQ YD	\$85.00	\$7,225.00	\$45.00	\$45.00	\$45.00
38	44201781	CLASS D PATCHES, TYPE III, 11 INCH	253.0	SQ YD	\$85.00	\$21,505.00	\$45.00	\$45.00	\$45.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate	ı			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
39	44201783	CLASS D PATCHES, TYPE IV, 11 INCH	169.0	SQ YD	\$85.00	\$14,365.00	\$45.00	\$45.00	\$45.00
40	44201798	CLASS D PATCHES, TYPE I, 13 INCH	27.0	SQ YD	\$95.00	\$2,565.00	\$75.00	\$75.00	\$75.00
41	44201803	CLASS D PATCHES, TYPE II, 13 INCH	40.0	SQ YD	\$95.00	\$3,800.00	\$75.00	\$75.00	\$75.00
42	44201807	CLASS D PATCHES, TYPE III, 13 INCH	119.0	SQ YD	\$95.00	\$11,305.00	\$75.00	\$75.00	\$75.00
43	44201809	CLASS D PATCHES, TYPE IV, 13 INCH	79.0	SQ YD	\$95.00	\$7,505.00	\$75.00	\$75.00	\$75.00
44	44201823	CLASS D PATCHES, TYPE I, 15 INCH	58.0	SQ YD	\$105.00	\$6,090.00	\$90.00	\$90.00	\$90.00
45	44201827	CLASS D PATCHES, TYPE II, 15 INCH	87.0	SQ YD	\$105.00	\$9,135.00	\$90.00	\$90.00	\$90.00
46	44201831	CLASS D PATCHES, TYPE III, 15 INCH	259.0	SQ YD	\$105.00	\$27,195.00	\$90.00	\$90.00	\$90.00
47	44201833	CLASS D PATCHES, TYPE IV, 15 INCH	173.0	SQ YD	\$105.00	\$18,165.00	\$90.00	\$90.00	\$90.00
48	48101200	AGGREGATE SHOULDERS, TYPE B	1,190.0	TON	\$75.00	\$89,250.00	\$40.95	\$40.95	\$40.95
49	50105220	PIPE CULVERT REMOVAL	451.0	FOOT	\$40.00	\$18,040.00	\$25.49	\$25.49	\$25.49
50	54262712	METAL FLARED END SECTIONS 12"	6.0	EACH	\$700.00	\$4,200.00	\$577.50	\$577.50	\$577.50
51	54262715	METAL FLARED END SECTIONS 15"	22.0	EACH	\$750.00	\$16,500.00	\$635.00	\$635.00	\$635.00
52	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	75.0	FOOT	\$100.00	\$7,500.00	\$76.34	\$76.34	\$76.34
53	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	381.0	FOOT	\$125.00	\$47,625.00	\$113.10	\$113.10	\$113.10



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
54	60100905	PIPE DRAINS 4"	150.0	FOOT	\$35.00	\$5,250.00	\$41.20	\$41.20	\$41.20
55	60100915	PIPE DRAINS 6"	150.0	FOOT	\$35.00	\$5,250.00	\$42.20	\$42.20	\$42.20
56	60260400	INLETS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$2,500.00	\$2,500.00	\$2,070.00	\$2,070.00	\$2,070.00
57	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	90.0	FOOT	\$50.00	\$4,500.00	\$65.00	\$65.00	\$65.00
58	60605100	(ABUTTING EXISTING PAVEMENT) COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	306.0	FOOT	\$60.00	\$18,360.00	\$65.00	\$65.00	\$65.00
59	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	313.0	FOOT	\$45.00	\$14,085.00	\$29.00	\$29.00	\$29.00
60	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	2.0	EACH	\$4,500.00	\$9,000.00	\$3,250.00	\$3,250.00	\$3,250.00
61	63200310	GUARDRAIL REMOVAL	423.0	FOOT	\$10.00	\$4,230.00	\$5.50	\$5.50	\$5.50
62	67100100	MOBILIZATION	1.0	L SUM	\$189,600.00	\$189,600.00	\$193,695.00	\$193,695.00	\$193,695.00
63	70300100	SHORT TERM PAVEMENT MARKING	34,115.0	FOOT	\$0.50	\$17,057.50	\$0.01	\$0.01	\$0.01
64	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,002.4	SQ FT	\$1.00	\$1,002.40	\$0.01	\$0.01	\$0.01



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
65	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	46,374.0	FOOT	\$0.25	\$11,593.50	\$0.01	\$0.01	\$0.01
66	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	42,683.0	FOOT	\$0.25	\$10,670.75	\$0.01	\$0.01	\$0.01
67	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,661.0	FOOT	\$0.50	\$1,830.50	\$0.01	\$0.01	\$0.01
68	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	259.0	FOOT	\$0.75	\$194.25	\$0.01	\$0.01	\$0.01
69	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	2,418.0	FOOT	\$1.00	\$2,418.00	\$0.01	\$0.01	\$0.01
70	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	289.0	FOOT	\$2.00	\$578.00	\$0.01	\$0.01	\$0.01
71	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	11,243.0	FOOT	\$1.00	\$11,243.00	\$0.01	\$0.01	\$0.01
72	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,002.4	SQ FT	\$5.00	\$5,012.00	\$4.00	\$4.00	\$4.00
73	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	46,374.0	FOOT	\$1.00	\$46,374.00	\$0.55	\$0.55	\$0.55
74	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	42,683.0	FOOT	\$1.50	\$64,024.50	\$0.60	\$0.60	\$0.60



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
75	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	3,661.0	FOOT	\$2.00	\$7,322.00	\$0.75	\$0.75	\$0.75
76	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	259.0	FOOT	\$2.25	\$582.75	\$1.00	\$1.00	\$1.00
77	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	2,418.0	FOOT	\$2.50	\$6,045.00	\$1.50	\$1.50	\$1.50
78	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	289.0	FOOT	\$4.00	\$1,156.00	\$4.00	\$4.00	\$4.00
79	88600600	DETECTOR LOOP REPLACEMENT	457.0	FOOT	\$30.00	\$13,710.00	\$17.30	\$17.30	\$17.30
80	89502376	REBUILD EXISTING HANDHOLE	3.0	EACH	\$4,000.00	\$12,000.00	\$2,623.00	\$2,623.00	\$2,623.00
81	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$400.00	\$2,000.00	\$200.00	\$200.00	\$200.00
82	LC200052	EXCAVATING EXISTING SHOULDER	345.0	UNIT	\$450.00	\$155,250.00	\$390.00	\$390.00	\$390.00
83	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	48,965.0	UNIT	\$1.00	\$48,965.00	\$1.00	\$1.00	\$1.00
84	LC600200	INSTALL SURVEY MONUMENTS	12.0	EACH	\$750.00	\$9,000.00	\$900.00	\$900.00	\$900.00
85	LC782000	GUARDRAIL REFLECTORS	17.0	EACH	\$25.00	\$425.00	\$8.00	\$8.00	\$8.00
86	X0327980	PAVEMENT MARKING REMOVAL -WATER BLASTING	93.0	SQ FT	\$25.00	\$2,325.00	\$22.00	\$22.00	\$22.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
87	X0358300	REMOVE AND RELAY END SECTIONS	7.0	EACH	\$1,500.00	\$10,500.00	\$5,057.86	\$5,057.86	\$5,057.86
88	X1200207	REMOVE AND RELAY PIPE CULVERTS (SPECIAL)	112.0	FOOT	\$250.00	\$28,000.00	\$277.86	\$277.86	\$277.86
89	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	100.0	CU YD	\$150.00	\$15,000.00	\$88.70	\$88.70	\$88.70
90	X2800500	INLET PROTECTION, SPECIAL	7.0	EACH	\$200.00	\$1,400.00	\$435.00	\$435.00	\$435.00
91	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,958.0	SQ YD	\$8.00	\$23,664.00	\$6.00	\$6.00	\$6.00
92	X5420624	PIPE CULVERTS TO BE CLEANED 24"	280.0	FOOT	\$50.00	\$14,000.00	\$14.29	\$14.29	\$14.29
93	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	2.0	EACH	\$2,000.00	\$4,000.00	\$3,145.00	\$3,145.00	\$3,145.00
94	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$2,500.00	\$15,000.00	\$1,500.00	\$1,500.00	\$1,500.00
95	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$110,600.00	\$110,600.00	\$146,822.00	\$146,822.00	\$146,822.00
96	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	84.0	EACH	\$45.00	\$3,780.00	\$50.00	\$50.00	\$50.00
97	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,068.4	SQ FT	\$7.00	\$7,478.80	\$1.60	\$1.60	\$1.60



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
98	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	45,690.0	FOOT	\$1.00	\$45,690.00	\$0.30	\$0.30	\$0.30
99	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	42,034.0	FOOT	\$1.25	\$52,542.50	\$0.50	\$0.50	\$0.50
100	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	3,362.0	FOOT	\$1.50	\$5,043.00	\$0.60	\$0.60	\$0.60
101	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	2,308.0	FOOT	\$2.50	\$5,770.00	\$1.00	\$1.00	\$1.00
102	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	137.0	FOOT	\$5.00	\$685.00	\$2.00	\$2.00	\$2.00
103	XX000856	MAILBOX REMOVAL AND RELOCATION	3.0	EACH	\$500.00	\$1,500.00	\$350.00	\$350.00	\$350.00
104	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	11,243.0	FOOT	\$0.50	\$5,621.50	\$0.30	\$0.30	\$0.30
105	XX006343	SEEDING (COMPLETE)	8,501.0	SQ YD	\$25.00	\$212,525.00	\$5.75	\$5.75	\$5.75
106	XX006658	FLOCCULATION LOGS	10.0	EACH	\$150.00	\$1,500.00	\$100.00	\$100.00	\$100.00
107	XX006659	FLOCCULATION POWDER	10.0	POUND	\$50.00	\$500.00	\$10.00	\$10.00	\$10.00
108	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	200.0	FOOT	\$20.00	\$4,000.00	\$10.00	\$10.00	\$10.00
109	XX008865	PERMEABLE PLASTIC BERM	66.0	FOOT	\$35.00	\$2,310.00	\$12.00	\$12.00	\$12.00



Project: Fairfield Road & Wilson Road Resurfacing

Section: 18-00999-59-RS

Description: Fairfield Road (Nippersink Rd to IL 134) Fairfield Road (Monaville Rd to IL 132) Wilson Road (IL 60 to Nippersink Rd)

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
110	XX206400	MAILBOX POST	28.) EACH	\$350.00	\$9,800.00	\$300.00	\$300.00	\$300.00
111	Z0033700	LONGITUDINAL JOINT SEALANT	30,224.	FOOT	\$3.50	\$105,784.00	\$2.55	\$2.55	\$2.55
			Bid Total			\$3,458,864.60			